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Calcul mental

Opérations à trou

Entrâınement 1



2/21

13 + ... = 20

54 + ... = 60

30 + ... = 100 41 + ... = 50

16 + ... = 30 26 + ... = 34
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13 + ... = 20 54 + ... = 60

30 + ... = 100

41 + ... = 50

16 + ... = 30 26 + ... = 34
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16 + ... = 30

26 + ... = 34
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Prenez votre stylo vert...
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13 + ... = 20

10 + 7 = 24 54 + ... = 6054 + 6 = 60

30 + ... = 10030 + 70 = 100 41 + ... = 5041 + 9 = 50

16 + ... = 30 16 + 14 = 30 26 + ... = 3426 + 8 = 34
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Calcul mental

Opérations à trou

Entrâınement 2
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10 − ... = 4

20 − ... = 17

10 − ... = 8 30 − ... = 26

16 − ... = 7 56 − ... = 42
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10 − ... = 4 20 − ... = 17

10 − ... = 8 30 − ... = 26

16 − ... = 7 56 − ... = 42
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16 − ... = 7 56 − ... = 42
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16 − ... = 7 56 − ... = 42
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10 − ... = 4 20 − ... = 17

10 − ... = 8 30 − ... = 26

16 − ... = 7

56 − ... = 42
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Prenez votre stylo vert...
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10 − ... = 4

10 − 6 = 4 20 − ... = 1720 − 3 = 17

10 − ... = 810 − 2 = 8 30 − ... = 2630 − 4 = 26

16 − ... = 7 16 − 9 = 7 56 − ... = 4256 − 14 = 42
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Calcul mental

Opérations à trou

Entrâınement 3
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6 × ... = 24

5 × ... = 25

3 × ... = 24 7 × ... = 56

9 × ... = 63 25 × ... = 75
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25 × ... = 75
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Prenez votre stylo vert...
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6 × ... = 24

6 × 4 = 24 5 × ... = 255 × 5 = 25

3 × ... = 243 × 8 = 24 7 × ... = 567 × 6 = 56

9 × ... = 63 9 × 7 = 63 25 × ... = 7525 × 3 = 75
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Calcul mental

Opérations à trou

Entrâınement 4



14/21

6 + ... = 14

5 + ... = 42

13 − ... = 4 17 + ... = 23

49 − ... = 37 215 − ... = 195
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49 − ... = 37
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Prenez votre stylo vert...
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6 + ... = 14

6 + 8 = 14 5 + ... = 425 + 37 = 42

13 − ... = 413 − 9 = 4 17 + ... = 2317 + 6 = 23

49 − ... = 37 49 − 12 = 37
215 − ... = 195215 − 20 =

195
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Calcul mental

Opérations à trou

Test



18/21

3 + ... = 10

27 − ... = 13

18 − ... = 7 16 − ... = 9

7 × ... = 35 55 + ... = 100

8 + ... = 20 ...× 6 = 24

5 × ... = 45 ...− 6 = 16
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3 + ... = 10 27 − ... = 13

18 − ... = 7

16 − ... = 9

7 × ... = 35 55 + ... = 100

8 + ... = 20 ...× 6 = 24

5 × ... = 45 ...− 6 = 16
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18 − ... = 7 16 − ... = 9

7 × ... = 35

55 + ... = 100

8 + ... = 20 ...× 6 = 24

5 × ... = 45 ...− 6 = 16



18/21
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18 − ... = 7 16 − ... = 9

7 × ... = 35 55 + ... = 100

8 + ... = 20

...× 6 = 24

5 × ... = 45 ...− 6 = 16
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7 × ... = 35 55 + ... = 100

8 + ... = 20 ...× 6 = 24
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3 + ... = 10 27 − ... = 13

18 − ... = 7

16 − ... = 9

7 × ... = 35 55 + ... = 100

8 + ... = 20 ...× 6 = 24

5 × ... = 45 ...− 6 = 16
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3 + ... = 10 27 − ... = 13

18 − ... = 7 16 − ... = 9

7 × ... = 35

55 + ... = 100

8 + ... = 20 ...× 6 = 24

5 × ... = 45 ...− 6 = 16
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3 + ... = 10 27 − ... = 13

18 − ... = 7 16 − ... = 9

7 × ... = 35 55 + ... = 100

8 + ... = 20

...× 6 = 24

5 × ... = 45 ...− 6 = 16



18/21

3 + ... = 10 27 − ... = 13

18 − ... = 7 16 − ... = 9

7 × ... = 35 55 + ... = 100

8 + ... = 20 ...× 6 = 24

5 × ... = 45

...− 6 = 16
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Posez votre stylo et faites passer vos feuilles devant...
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3 + ... = 10

3 + 7 = 10 27 − ... = 1327 − 4 = 13

18 − ... = 718 − 11 = 7 16 − ... = 916 − 7 = 9

7 × ... = 35 7 × 5 = 35 55 + ... = 10055 + 45 = 100

8 + ... = 208 + 12 = 20 ...× 6 = 244× 6 = 24

5 × ... = 45 5 × 9 = 45 ...− 6 = 1622− 6 = 16
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3 + 7 = 10

27 − ... = 1327 − 4 = 13

18 − ... = 718 − 11 = 7 16 − ... = 916 − 7 = 9

7 × ... = 35 7 × 5 = 35 55 + ... = 10055 + 45 = 100

8 + ... = 208 + 12 = 20 ...× 6 = 244× 6 = 24

5 × ... = 45 5 × 9 = 45 ...− 6 = 1622− 6 = 16
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27 − ... = 1327 − 4 = 13

18 − ... = 7

18 − 11 = 7 16 − ... = 916 − 7 = 9

7 × ... = 35 7 × 5 = 35 55 + ... = 10055 + 45 = 100

8 + ... = 208 + 12 = 20 ...× 6 = 244× 6 = 24

5 × ... = 45 5 × 9 = 45 ...− 6 = 1622− 6 = 16
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18 − 11 = 7
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18 − 11 = 7

16 − ... = 9

16 − 7 = 9

7 × ... = 35
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55 + 45 = 100

8 + ... = 20

8 + 12 = 20

...× 6 = 244× 6 = 24
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